2007 HSC Studies of Religion: Multiple Choice

Question 7
Which of the following is an example of denominational switching?

A X Changing from Catholicism to Zen Buddhism

B X Changing from Uniting Church to Humanism

C v Changing from Orthodox Judaism to Reform Judaism
D X Changing from Christianity to new religious expressions
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Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6

A 23% 19% 14% 8% 3%
B 10% 6% 4% 5% 5%
C 33% 38% 63% 78% 86%
D 33% 36% 19% 9% 5%
N 0% 0% 0% 0% 0%

The table and graph show, for the groups of students whose marks in the examination corresponded to
the borderline between two bands, what percentages of each group selected the responses A, B, C and
D. N is used to identify: No valid response.



